9-1 HFTHEHEE KE

(k2 841 A 1 HEITE)

4 PR A & ;EE i
—T T
& 5 B 4 TSR oo | EamB | gom | e | TR

(BT 31 i % ]

3+ 4 -1 BFHMAR W HF L= R WY M =R far Bl 14,170 HiF K 21 4
3 -4 - 2 |LiFEER AHPTEMTA T B = P 5 ST 1 T 10, 850 Hi 18 2
3+ 4 - 3 ARG R T F 5 iR HLIIRY 57 P D EFFET =T 4 1,940 #iF= 18 2
34 - 4 AR ALl MIYCE HERE 4y TE KSR 2,050 HiFEz 18 2
3+ 4 - 5 JHKAEBRATIR V& KT AS OB TTH K F T 1,390 MK 18 2
3 - 4 - 7 HERVEBRATIR HLlF 4 Py = B LW 54 R 850 HiF I 6 2
3+ 4 - 8 ByHEHEE BiER B 59 R S eIl 7 [ o 5T 2,190 HizEz 16 2
3+ 4 -9 BHATERFARRR BF [ 7o KA FRRR T R SR R IRTET AR 890 HiF I\ 6 2
3+ 4 - 10 {HKEIEmBR BT IR AT R 7 0 o T 3,500 HiZEF 16 2
3411 FEHAPRRE HIFEFEATARE FRGTHFESR  HEEE LT 2,370 i 6 2
34 - 12 Fik Lk HIEHTHTAPART TR IEE SRR S AR AT 4,930 HFX 16 2
3413 EAEAR BEARFFILT “4—TH BOB—TH 4,800 iz 16 2
34 14 )IRFEEERATHR B I 5 2 I i =4 _TH =4 _TH 1,130 #iF= 16 2
3 -4 -15 BHREIRR tikE B M o35 S TVIN 1,150 ik 16 2
3416 RlFFER B I 5 2 I i Hp L B JR A 1 1,960 HiF 16 2
3517 BHTRELGR TF S H A4 ) TF SR TF SR 780 iz 12 2
3418 HHAEEMR HEFRE)IER ETE R T H 7 e 3,860 HiFEZ 18 2
3 -4 - 19 HEARHBRATHR HLIRF 546 LA L= AE 120 = 20 2
3420 4 LARBEHR A EFHERIET AP IR - T B B LI == H i 4,150 H1FR= 20 2
HROK DI > 510 ?
1, 340 4
1 BlifE B Ll 48 L Pl =1 B LI = R0 1,900 Hi 12 2
2 Ly B HFE=TH Ly 5 g7 L5 V5 K I 1,150 Hi# 6 2
3423 REELKR AT H 1) H4 " TH BEETIREE 1,900 6 2

M o PR A 1) A4 " TH Moﬁ%$w~%

1, 460 Mz 16
3+ 4 - 24 LA VEHRETH FASE st HARTHE b HERTIAG 150 s 72
3+ 4+ 25 JEKILAR HKARBE—THE HATHTF HERTKES 1,300 i 17 2
3+ 4 - 26 {HKRAEIERATRR EARAREKR—TH HEFMR HAET MR 400 7 16 2
3+ 4 - 27 EEHEEAHR FpEFILELT L E LT LgtieSITENITN 90 HuiF 20 2
3+ 4 - 28 EREERAHR B 55 A T B 55 A B 55 210 iz 20 2
3+ 4 - 29 BFHARATR B M P R $p M P R $p [ P R 290 M1 20 2
3+ 4 - 30 EEIRIAMTFMHR WEHATT /N 5T & WEBRAET N T UK 2,900 HiFEz 16 2
3+ 431 WRAHANR WA HAANTEEE AR T BT 1,270 HiR 16 2
3432 BHEHPER B E NG Al RARF B 1 B 2,340 iz 6 2
3+ 433 WEHRIEPER HEHREFEAT UK AT THE AR 7T RS 650 HiFF 6 2
3+ 434 HRITEATHR BTE B AT A BATE JCAT = R okl B 2 R S +-— 2,160 HiFEZ 20 2

NS /STD |

L T EESE S 1 SR EAKARKR - TH T EE B [ s 4,000 %
TFRAER T H  dARHE B\ 2,220 & L3 )
T DR ¥
{ 1,780 Mz 1




